
T-Nuts

1/4-20 Screws
1/4" Flat Washers

Safety Shield

T-Nuts

1/4-20 Screws
1/4" Flat Washers

Safety Shield

Safety Shield Assembly

Fence Assembly

Safety Shield Assembly

Fence Assembly

Fence Knobs

Flat Washers

Fence Assembly

T-Bolts

Top

Fence Knobs

Flat Washers

Fence Assembly

T-Bolts

Top

Veritas Tools Inc.  Ottawa ON  K2H 1C2  Canada  veritastools.com
© Veritas Tools Inc. 2019 974 INS-752_A

Veritas Tools Inc.  Ottawa ON  K2H 1C2  Canada  veritastools.com
© Veritas Tools Inc. 2019 974 INS-752_A

Fence for Table Top for Compact Routers 05J67.05 Fence for Table Top for Compact Routers 05J67.05

Caution: To use this product safely, always follow the safety 
instructions that came with your power tool. As with any power 

tool accessory, always wear eye protection and hearing protection. Blades are 
extremely sharp; handle with care.

Assembly
1. Assemble the fence-mount safety 

shield using the included hardware,
 as shown.
2. Install the safety shield in the

center of the fence by sliding the 
T-nuts into the upper T-slot track.

3. Tighten the screws to secure the 
safety shield in position.

Caution: To use this product safely, always follow the safety 
instructions that came with your power tool. As with any power 

tool accessory, always wear eye protection and hearing protection. Blades are 
extremely sharp; handle with care.

Assembly
1. Assemble the fence-mount safety

shield using the included hardware, 
 as shown. 
2. Install the safety shield in the

center of the fence by sliding the 
T-nuts into the upper T-slot track.

3. Tighten the screws to secure the
safety shield in position.

Installing the Fence
Secure the fence assembly onto the table top using two T-bolts, two fl at washers 
and two knobs, as shown. 

Installing the Fence
Secure the fence assembly onto the table top using two T-bolts, two fl at washers 
and two knobs, as shown. 


